ORDER #005044



Wife of the Party Inc. 318 S Date Ave Alhambra, CA 91803

06/20/2024 07:30 AM | Install 06/21/2024 08:00 AM | Install 06/21/2024 06:00 PM | Event - TBD 06/21/2024 10:00 PM | Strike - Media + Red Room

06/22/2024 12:05 AM | Strike - Reception /

Pre Party - TBD

PO: Hollywood Unlocked Awards - 2024 Shipping Address:

Beverly Hilton: 9876 Wilshire Blvd,

Beverly Hills, CA 90210

Order Date: May 6, 2024 Due Date: Upon Receipt

Description		Qtty	Price		Total
Reception					
	Linen - Black Velvet - 132" Rnd	75	\$60.00	Т	\$4,500.00
	Napkin - Black Velvet	775	\$2.00	Т	\$1,550.00
	Linen - Black Velvet - 120" Rnd	10	\$45.00	Т	\$450.00
			Total Reception		\$6,500.00
Red Room - VIP					
	Tufted Curved Bar - Red w/ Red Chanelling Front (2) Pieces For Champagne	1	\$700.00	T	\$700.00
	Draping - Red Velvet - 140' x 14'h Red Room Perimeter Flame Treated w/ CA Compliance Certification	1	\$4,200.00	Т	\$4,200.00
	Panton 360 Sofa - Red - 18'	1	\$1,900.00	Т	\$1,900.00
	Highboy Table	6	\$12.00	Т	\$72.00
	Linen - Red Velvet - 120" Rnd	6	\$45.00	Т	\$270.00
	Carpet - Red - 30' x 40'	1	\$2,580.00	Т	\$2,580.00
	Sienna Side Table, Red * Wrapped Red* In front of Panton Sofa	8	\$95.00	T	\$760.00
		1	Total Red Room - VIP		\$10,482.00
Foyer Black Ca	rpet Moment				
	Draping - Black Velvet - 100' x 14'h Flame Treated w/ CA Compliance Certification Tunnel Leading into Reception	1	\$3,000.00	Т	\$3,000.00
	Ceiling Tunnel Drape - 30' x 20'L Flame Treated w/ CA Compliance Certification	1	\$1,800.00	Т	\$1,800.00
	Draping - Black Velvet - 65' x 14' Behind SNR Carpet Flame Treated w/ CA Compliance Certification	1	\$1,950.00	T	\$1,950.00

escription		Qtty	Price		Total
	Draping - Black Velvet - 20' x 14'h Entrance to SNR Moment Flame Treated w/ CA Compliance Certification	1	\$600.00	T	\$600.00
	Stanchion - Chrome	40	\$17.50	Т	\$700.00
	Velvet Rope - Black	39	\$15.00	Т	\$585.00
	Media Riser - 2' x 8' x 12"h	2	\$75.00	Т	\$150.00
	Carpet Media Riser - Black	2	\$84.00	Т	\$168.00
	Carpet - Black - 4' x 60' *Binded	1	\$900.00	Т	\$900.00
	Carpet - Black - 4' x 8' *Binded For SnR	1	\$120.00	Т	\$120.00
	Carpet - Black - 8' x 12' - *Binded	1	\$360.00	T	\$360.00
		Total Foyer Black Carpet Moment		ent	\$10,333.00
Party - (Bla	ack Room)				
	•				
- uy (2	Draping - Black Velvet - 200' x 16'h Flame Treated w/ CA Compliance Certification	1	\$6,000.00	Т	\$6,000.00
	Draping - Black Velvet - 200' x 16'h	1	\$6,000.00 \$250.00	T	\$6,000.00
	Draping - Black Velvet - 200' x 16'h Flame Treated w/ CA Compliance Certification				
	Draping - Black Velvet - 200' x 16'h Flame Treated w/ CA Compliance Certification Dj Booth - Black - 6ft Stage - 8' x 12' x 2'h	1	\$250.00	T	\$250.00
	Draping - Black Velvet - 200' x 16'h Flame Treated w/ CA Compliance Certification Dj Booth - Black - 6ft Stage - 8' x 12' x 2'h For DJ	1	\$250.00 \$375.00	T T	\$250.00
	Draping - Black Velvet - 200' x 16'h Flame Treated w/ CA Compliance Certification Dj Booth - Black - 6ft Stage - 8' x 12' x 2'h For DJ Carpet Cover Stage - Black	1 1	\$250.00 \$375.00 \$192.00	T T	\$250.00 \$375.00 \$192.00
	Draping - Black Velvet - 200' x 16'h Flame Treated w/ CA Compliance Certification Dj Booth - Black - 6ft Stage - 8' x 12' x 2'h For DJ Carpet Cover Stage - Black Highboy Cocktail Table, 30"	1 1 1 8	\$250.00 \$375.00 \$192.00 \$12.00	T T T	\$250.00 \$375.00 \$192.00 \$96.00
	Draping - Black Velvet - 200' x 16'h Flame Treated w/ CA Compliance Certification Dj Booth - Black - 6ft Stage - 8' x 12' x 2'h For DJ Carpet Cover Stage - Black Highboy Cocktail Table, 30" Linen - 120" Rnd - Black Velvet Decal - Logo - 46" x 38"h	1 1 1 8 8	\$250.00 \$375.00 \$192.00 \$12.00 \$45.00	T T T T	\$250.00 \$375.00 \$192.00 \$96.00 \$360.00
	Draping - Black Velvet - 200' x 16'h Flame Treated w/ CA Compliance Certification Dj Booth - Black - 6ft Stage - 8' x 12' x 2'h For DJ Carpet Cover Stage - Black Highboy Cocktail Table, 30" Linen - 120" Rnd - Black Velvet Decal - Logo - 46" x 38"h (3) Bars + Dj Booth	1 1 1 8 8 8	\$250.00 \$375.00 \$192.00 \$12.00 \$45.00 \$75.00	T T T T T	\$250.00 \$375.00 \$192.00 \$96.00 \$360.00 \$300.00

Description		Qtty	Price		Total
	Celine Ottoman, Black	12	\$55.00	Т	\$660.00
	Los Angeles Bar, Black - 8ft	3	\$350.00	Т	\$1,050.00
	Los Angeles Back Bar, Black 6ft	3	\$175.00	T	\$525.00
	Gooseneck, Chandelier Support w/ Black Velvet Cover	6	\$95.00	Т	\$570.00
	Gold Paris Chandelier, Medium For Bars	2	\$495.00	T	\$990.00
14. 14.	Gold Paris Chandelier, Small Above Lounges	4	\$350.00	Т	\$1,400.00
		Total Pre P	arty - (Black Roo	om)	\$15,868.00
Green Room					
	Helix Sofa, Black Boucle	1	\$375.00	T	\$375.00
	Sienna Club Chair, Black Boucle	2	\$175.00	T	\$350.00
	Sienna Coffee Table, Black	1	\$125.00	T	\$125.00
	Draping - Red Velvet - 110' x 7'h Flame Treated w/ CA Compliance Certification	1	\$1,980.00	Т	\$1,980.00
			Total Green Room		\$2,830.00
After Party - Stu	idio 69				
	Pillow - Coral Velvet	6	\$10.00	Т	\$60.00
	Pillow - Violet Velvet	6	\$10.00	Т	\$60.00
	Decal - Dj Booth - 42" x 36"	1	\$75.00	Т	\$75.00
	Darzy Club Chair, Off White Boucle	8	\$175.00	T	\$1,400.00
5	Helix Sofa, Off White Boucle	4	\$375.00	Т	\$1,500.00

Description		Qtty	Price		Total
	Sienna Coffee Table, Off White	6	\$175.00	Т	\$1,050.00
	Sienna Sofa, Cream Velvet	2	\$375.00	Т	\$750.00
	Sienna Club Chair, Cream Velvet	4	\$175.00	Т	\$700.00
	Darzy Ottoman, Cream Velvet	6	\$75.00	Т	\$450.00
	Darzy Ottoman, Off White Boucle	12	\$75.00	Т	\$900.00
	Stage - 8' x 16' x 2'h	1	\$500.00	Т	\$500.00
	Carpet Cover Stage - 12' x 20'	1	\$516.00	Т	\$516.00
	Stage - 10' x 84' x 2'h	1	\$3,150.00	Т	\$3,150.00
	Carpet Stage - 12' x 92'	1	\$2,370.00	Т	\$2,370.00
	Carpeted Double Step 2'h	3	\$125.00	Т	\$375.00
	Dj Booth	1	\$250.00	Т	\$250.00
	Round Dance Floor - 24' Dia.	1	\$1,728.00	Т	\$1,728.00
	Full Wrap Dance Floor - 20' x 18' W/ Laminate	1	\$2,880.00	Т	\$2,880.00
	Highboy Cocktail Table, 30"	7	\$12.00	Т	\$84.00
	Linen - 120" Rnd - Cream Color Poly	7	\$28.50	Т	\$199.50
	Sofia 360° Bar (2) Pieces Semi-Circle	1	\$900.00	Т	\$900.00
	Los Angeles Back Bar, White 6ft	1	\$175.00	Т	\$175.00
		Total Aff	Total After Party - Studio 69		\$20,072.50
Services					
	Trucking Fee	5	\$375.00		\$1,875.00
	Install Crew	12	\$480.00		\$5,760.00
	Install Crew	8	\$280.00		\$2,240.00

Description		Qtty	Price	Total
	Strike Crew - Strike Media + Red VIP Room Immediately	4	\$210.00	\$840.00
	Strike Crew	10	\$480.00	\$4,800.00
	1.5% WC Fee	1	\$1,319.73	\$1,319.73
Notes			Total Products:	\$66,085.50
		Total La	bor/Services/Misc:	\$16,834.73
			Taxes:	\$6,278.12
			Discounts:	(\$0.00)
			Total:	\$89,198.35
			Payments:	(\$0.00)
			Balance:	\$89,198.35